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1. @€ J TR WIS THARE! (uniformed) % TG
(1) s (2) STt (3) et (@) Hidarery
Lord uniformed tax on salt all over the country.
(1) Bentinck (2) Wellesley (3) Lyton (4) Cornwallis

2. feure oW fovm = SfER

(a) oTeYEEA AR e 39

(b) AT AT forrer 30

(c) TEIRaren M de=a frarer Fo

(d) v THNT i e, STegva framemael w6 [qT wican feefam

et I

1) (@) %H @ @@®%R @) (@ 0 FF 4 @ b)) [
Objectives of the Depressed Classes Mission Institute :

(a) Providing jobs to the untouchable.

(b) To teach the public religion.

(c) To solve the social problems of untouchables.

(d) Transforming a tactile society, getting support from all levels to prevent untouchability.
Answer Options :

(1) (a) only 2) (@ ®only (3 (@) (b)(only (4) () ) (o) (d)
3. YOI RN FIHTHR hH o : :

(a) 9 GEE g (b) 3= sEfgTEE

(c) W= WA 99 (d) <l Yfge srfawE

it 39

1 @ ®)© @ @) (), () (). (a)

(3) () (), (a) (b) 4 @ @, ®)©

Put the following Associations in chronological order :

{a) Poona Sarvajanik Sabha (b) Indian Association

(c) Madras Mahajana Sabha (d) Bombay Presidency Association

Answer Options :

1 @ ®) @) @ @ ®) © @ @

3 (© @) (a). @) @4 (), @ ®) ()
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4. &9 @ o guie FA SR ?
(a) @ Fomar=n fég wiew wed faee ¥,
(b) i e faenet WA G i S,
(c) T THIS GURONH TR STHeA™ SRA ifTaa.
(d) I ST TesdeE oA e,
(e) T four ¥ TeTmid= TaE ST gh.

i e
(1) deaEs foemErR (2) HEER oA
(3) wAa HleHhle (4) T SN

Who is described in the following lines ?

(a) He was a teacher in Hindu College, Calcutta.

(b) He inspired his students with love for liberty.

(c) He stressed the need for social reforms.

(d) He started Young Bengal Movement.

(e) His ideas were based on the principles of the French Revolution.
Answer Options :

(1) Ishvarchandra Vidyasagar (2) Keshabchandra Sen
(3) Colonel Olcott (4) Henry Derozio
5. TR faeie yued 7 R AR A= e e ;
(a) 3fc sfe= o () T
(b) 331331 B WEH (i) PrTEEETH
(c) 33133 g T i) FrwR
(d) TSI A1 (iv) Y
it I

@ (d () (9
(1) @ @) @) ()
() (@) @ () ()
(3) () (@) @v) @
4 ) @ @) (i
Match the following Bhupalis and their composers :

(a) Uthi Uthi ba Purushottama (i) Keshavswami

(by Utha Utha ho Sadhaka (i) Ranganathswami
~ (¢) Utha Utha Sakala Jana (i) Giridhar

(d) Jag re jag bapa (iv) Deonath

Answer Options :

(@ () (o (d)
no@ @@ @ @)
2) () (@) (@) (@)
3) (@) (i) @v) ()
4) () @ @) i)

HeAT HIHTETS AT/ SPACE FOR ROUGH WORK
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6. Y& AT GUN heledl SIS e |
(a) TR e AT O 9 B
(b) TRH 1946 WA FEAR Wiafeh o[ fragd 9 AmeR we.
(©) o Wufue finers, faueR, SOEFIHE FR T QVEHERIRAT HHAT SYROFEIES it

TEa el B
TaiEt Iy _
(1) THTE, Jeerart (2) Ty, FTHE
(3) TS T (4) St smERE

Name the person described in the following sentences :

(a) He was the leader of Nagpur Textile Union.

(b) He was elected to the legislative assembly as a labour leader in April 1946.

(c) Healso helped the primary teachers, weavers, press workers and mine workers establish

organisation.
Answer Options :
(1) S.H. Batliwala (2) T.CS. Jayraman
(3) Rambhau Ruikar (4) B.P. Adarkar

7. Y& G FTE G0 Hel e 2
(a) < WU FHered] THUHAES TERTK T A9 99 g& 9.
(b) 1 FOEAR AE B T
(c) i g Tdt BT T T e STE wehd.
(d) BT I i FO € i o S
() Y farie=R W@ TN,

i I
(1) 4. HeeH (2) A4 ot
() E W (4) T TR

Who is described in the following sentences ?

(a) The newspaper edited by him started a new era in Maharashtra.
(b) The newspaper was called Sandesh.

(c) He may be said to be a pioneer of modern Marathi daily journalism.
(d) He specialized in covering war news.

(e} He was a master of humour.

Answer Options :

(1) A.B. Kolhatkar (2) N.C. Kelkar

(3) AH. Gadre (4) G.G. Agarkar

oAl THIHES WA/ SPACE FOR ROUGH WORK P.T.0
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8.  3.9.1848 Wl WU Foted § Y faewdl oive uraffrer Sramdien waet e a4
TE.

(1) foene feaaifemt @ (2) THEH |
(3) SUGE FETEIE 4T 4y T varw e

The name of the Marathi branch of ‘The Students Literary and Scientific Society’ established
in 1848 A.D. was .

(1) Vidyarthi Hitbodhini Sabha (2) Paramhansa Sabha
(3) Upayukta [nyanaprasarak Sabha (4) Shikshan Prasarak Mandel

9. TEIA IR F0H Holedl Mg e I Qi
(a) T SEramEE o e Srafae.
(b) T TR wTHIA] el SHSF= a1,
(c) T SR WA Sehiel fYIaT = g,
(dy = YRR &, S it A defie T s s faerenen e fea.
it It
(1) @S H (2) e
(3) e SR (4) € dq®
Name the Governor General whose description is given below.
(a) He took interest in mass-education.
(b} He wanted to establish Vernacular Schools.

(c) He wanted to give education to the maximum people.

(d) With his encouragement, the local governmenis in Bengal, Bombay and the Punjab
gave encouragement to Vernacular education.

Answer Options :
(1) Lord Canmning (2) Warren Hastings
(3) Lord Dalhousie (4) Lord Bentinck

HeAl WIMTHATS 91T/ SPACE FOR ROUGH WORK
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10. Al P UROMER A REH lven TaEen eeiteis sieren faiue el 7eg feet
Bt ?

(1) Ve (2) WS (3) wme (4) T
Against whom did Warren Hastings give military help to the Nawab of Qudh under the
Subsidiary Alliance System ?

(1) Rohillas (2) Marathas (3) Jats (4) Rajputs

11. I gO9A 9 Tid G0 91 WueE Tl Siedn e,

(a) SRR () T T
(b) o feemer (i) ST el @M
(€ FHS (i) WA T

d) sfedse (iv) Hewg e
ﬂ'ﬂf‘ﬁ E?ﬁ: :

@ () (© )
L @ @O @ ()
@ @ @O @) @
(@) @) @ @) @
4) @) @@ @ @)

Match the pairs of the following newspapers and their founders or editors.

(a) Jameendar (i) Maulana Azad
(by AlHilal (ii) Jafar Ali Khan
(c) Comred (iii) Sayyad Husain

(d) Independent (iv) Mohammad Ali
Answer Options :
@ ® () (@
O v @ @ (@
@ @ @ (v G
() @ @ @) (i
4) @ @ O @)

FHoAl HWTEES 9N/ SPACE FOR ROUGH WORK PT.O
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12. 3.4 1930 WE&dr 1 i fFEH T4 W9 e,
@ dm (b) () Iw i
qarEr I
1 (@, b)) (2)  (a) BH G) @O%[ @) (@) (5
By 1930 A.D. Kisan Sabha were established in Province.
(a) Bengal (b) Punjab ()  United Provinces

Answer Options :
(1 @, ®)(© (2) (a) only () @ bonly (4 (), (c)only

13. 1857 <A1 3SEMAY WERTLIA el SiHE YISt 21, Ti=al 9 i TaEren S e

(a) I3 9FTA () TR
(b) Tirer T/wm (i) R
(c) 39 7Y (i) EER
(d) we[ AT @H (iv) S
Tt 36T

@ () (© (9
1 @ O @v) ()
(2) (@) (v) @@ @
@) O @ (@G @@
@ @) @@ @& @
Match the following prisoners from Maharashtra who were sent to Andaman after the Revolt
of 1857, with their native places :

(a) Yadu Bagal () Pandharpur
(b) Bhiva Lakma (i) Nashik
() Annu Nathu (iif) Satara

(d) Baban Jumal Khan (iv) Bombay
Answer Options :
@ ® (© (d
1 @ @ Gv @G
(2) (@) (v) (@ @
G O @ (v) (@)
@ (v) @ @ @

THoedT RIS WA/ SPACE FOR ROUGH WORK
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14. sifer Aoie fEamiea Fvem €9 v 9aid I oTed 2

1) wuiH.-6,7 2) wwitd.-9,10

(3) <o H.-11,12 (4) <oftd.-13,14
Which two of the Hinyana caves at Ajanta are ancient ?

(1) CavesNo.-6,7 (2) Caves No.-9, 10
(3) Caves No.-11,12 (4) Caves No.-13, 14

15. Y& S| HIOmY FUH 38 ?
(2) O wrdEA FRIfRTeraT W B
(b) 3.9 1905 TAT HEGA TIRY AYSTAE T eI 2.
(c) %W 1912-1915 TR ¥ MRAG hehdial ST 96 B,
(d) 39 1910 9EA = TR FE1T FEAHSEN g Fef.
Wﬁﬂ' E?ﬁ' :
1) TRE AR
(2 frireer fe
(3) TiIes FHE M
(4) = T
Who is described in the following sentences ?
(a) He was a Principal of Fergusson College.
(b) 1In 1905 A.D. he presided over the Banaras Session of the Indian National Congress.
(¢) During 1912-1915 A.D. he was a member of the Indian Public Service Commission.
(d) In 1910 A.D., he was again elected to the Imperial Legislative Council.
Answer Options :
(1) Dadabhai Naoroji
(2) Phirozeshah Mehta

(3) Gopal Krishna Gokhale
(4) Justice Ranade

oAl HNEE 9T/ SPACE FOR ROUGH WORK P.T.0
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16. SR J9H N i FALH A= e oo,

(a) Tosrft wa ()  HvarE R

(b) gt (i) WTEHRE TEH
(c) Sl (i) qHE WA
(d) FHart (iv) e sEaas
LEIRUES

@ (b) (g (9

1 @ @ @) ()

@ o @ @ )

() (v) @) @ @

@) @@ ) @ @

Match the following non-brahmin newspapers and their editors.

(a) Vijayi Maratha (iy  Shripatrao Shinde
(b) Jagruti (i) Bhagvantrao Palekar
(c) Deenmitra (iii) Mukundrao Patil

(dy Kaivari (iv) Dinkarrao Javalkar

Answer Options :

@@ (®) ()
(1) () @ (@) (i)
@ o @ 3@ @
@) Gv) () @) @
) @) Gv) @ @

17. 971875 Ut WERIERIIE F 0l S foeaiiiel ide=i-il QrashR, spiHeR anfu fafew stfumrnfaas
fagie e ?
(1) @ 9 TR (2) 9= g
(3) AN g WA (@) IO 9 IFWEGTR
In 1875 the farmers in the two district in Maharashtra insurrectionise against a pawn-broker,
landholder and the British Officer ?
(1) Khandesh and Nagpur (2) Bombay and Ratnagiri

(3) Satara and Solapur (4) Pune and Ahmednagar

HoAl HITES SPT/SPACE FOR ROUGH WORK
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18. ‘'<iey 3t yrHe W ot FTwrg fodgs' € g Sl o ?
(1) TSt SEES A (2) <ENE At
(3) I HT (4) W FeA
Who wrote the book - ‘Notes On Infant Marriage and Enforced Widowhood" ?
(1) Behramji Merwanji Malabari (2) Dadabhai Naoroji
(3) Madam Cama {4) Perin Captain
19, EIE U9 9 IR A@E Fie Sredl a2l
(@) TR @ qFa
(b) AaIsTEEH (i) - feroRm s
(c) FEyY (i) Prafedad
(@) vfe (iv) STEETET
Uit I

@ () (¢ (d
QO @ @ @ @
@ @@ @ @O @
G O @ @) )
@) Gv) @ @ @
Match the following treatises and their authors :
(a) Swatmanubhavtarangini (i) Tukdev

(b) Chaitanyachandrika (i) Shivram Akolkar
(c) Dnyanaprabodh (iif) Shivdin Kesari
(d) Anubhutilesh (iv) Samrajyawaman

Answer Options :

(@ () (© (d
O v O @ @
() @) Gv) @ @
Gy O G @) @)
4) (v) @) @@ @

. Hodl HETEES 9N/ SPACE FOR ROUGH WORK
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20.

21.

12 A

PRI gRarEl AT HITHETIGAR Jgu 64
(a) T ¥UES b) S FR
() =i ifge (d) e gEER
e Rk
1) (@), (© ®) @ @ @ (@ ), ©)
(3) (@) b)) (@ @) @), © ), @
Arrange the following newspapers in their chronological order.
(a} Bombay Herald (b) Bombay Courier
{c¢) Bombay Gazette (d} Bombay Samachar
Answer Options :
(1) (@) (o), (b}, (&) (2) (@) (d). ) (b)
(3) @, ®) @) @ (4} (d). (), (b). (@
e ol

T qeAE EHT A TG Ferear weer T Y
(a) TRHeA fethy srifquym aife sTom gfea @ 1893
(b) Ffem Wafew smifamm (i) 1888
(c) wfew dwforr afteg (i) 1885
(d) yedeA siell-shfidea o (iv) 1875
atdt I

@ ® (@ (@
1) @ @ (@) (iv)
(2 @ @ (v) ()
(@) (@) @v) O ()
@ (v @ @ o
Match the pairs :

Institutions established by Sir Syed Ahmed Year of Establishment
{a) Muhammedan Defence Association of Upper India (@i 1893
(b} Indian Patriotic Association (iiy 1888
(c) Muslim Educational Conference (ii)) 1885
(d} Muhammedan Anglo-Oriental College (iv) 1875

Answer Options :

(@ (b @ (@
(1 @) @ () ()
(2) @@ @ (@v) (i)
@) @@ Gv) @ @)
(4) (v} () () @)

@l AT AR/ SPACE FOR ROUGH WORK
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22. EIEE! AR feemia AT THeY Wedr i 8 ?
(a) G feamo Faa
(b) TR & AT
() o AeeE TS
(d) FOMSH TWEH TR
() TR T TG

Tt I
1) (@) @ (& FH (@) (@), (), () (e) T
3)  ®), (), (), () (4) () A (e) T

Who from the following were the closest associates of Lokmanya Tilak ?
(a) Narsinh Chintaman Kelkar

(b) Damodar Hari Chaphekar

(c) Shivram Mahadev Paranjpe

(d) Krishnaji Prabhakar Khadilkar

(e) Gopal Krishna Gokhale

Answer Options :

(1) (@) (©) (d) only (2) (@) (b), (0), (¢) only

3)  (®) () (d), (e) only (4) (d) and (e) only

23. WREHH SR fqur a& o ?
(a) 3.9 1899 HEd STEM dc U= T=EA1 FIOI[ A,
(b) 9. 1905 weA fod 3T AR 1.25 o fofet 8.

watdt =y :
(1) e faur ¥ ol 2) T faum v o
(¢) = faud v ARA. (4) B faum e sRA.

Which of the following statement is correct ?

(@) The Assam Oil Company was formed in 1899 A.D.

(b) In 1905 A.D,, it produced about 1.25 lakh litres.

Answer Options :

(1) The first statement is correct. (2) The second statement is correct.

(3) Both the statements are correct. (4) Both the statements are not correct.

FoET HETHS STt/ SPACE FOR ROUGH WORK P.T.0
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24. WEITLTIE U GRS e Ve 9 HUat HISd Si7or 2

(a) TREFG WS (b) ™ GHEE

(c) TR R (d) T E9RE

watdt I

(1) (a), (b) 3 omEq. (2) T (b) A .

(3) (o), (d) 7 aEa. (4) T (c) AT TR,

Which sects in Maharashtra brought knowledge in Sanskrit language to Marathi
language ?

(a) Varkari sect (b) Nath sect

(c) Mahanubhav sect (d) Datta sect

Answer Options :
(1) (a), (b) are correct. (2) Only (b) is correct.

{3) (<), (d) are correct. {4) Only (c) is correct.

25. UL 1816 HEA Vel GEYF IFHUAIS! HIS SE SRNERTEE! Holt HIv et ?

(1) e A= (2 e e

(3) wIE TadmE (4) e ATt

In September 1816, who got the sanction to supress the Pindharis from the Court of
Directors ?

(1) Lord Bentinck {2) Lord Hastings

(3) Lord Dalhousie (4) Lord Wellesley

&1 HIHTEIS AT/ SPACE FOR ROUGH WORK
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26, <iredl ool
(a) e R () AR eI T
(b) AT () TR ST W AAEX SR ST CFA T
qe Fel
(c) omfEig (i) YR W IO AR eI
(d) weltaweres (iv) “Eren v snfoy fasda sffua
waiEr I
@ ®) (© ()
1 O @ @ w)
(2) (v) @) @ @)
G @ @ @ G
) © @ (v) ()
Match the following :
(a) Natya Niketan () Motiram Gajanan Rangnekar
(b) Natya Manwantar (i) Started by young idealists devoted to Ibsen and Shaw
(c) Ashirwad (i) Keshavrao Bhosle and Bapurao Pendharkar
(d) Lalitkaladarsha (iv) Jyotsna Bhole and Vishnupant Aundhkar
Answer Options :
@ () () (4
1) @ (@ @) (@v)
(2) (v} @) @ (@
G @ @ @) @)
@ O @ Gv) (i)

oAl HAMG! WAT/SPACE FOR ROUGH WORK
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27. Ufagiies wifec anftn wi=n SrRaehie e s

(@) IR TYETE Y9 (i)
(b) T RS (i)
() HTTTE (i)
(d) STPFEEET YA AEH (iv)
watdt 39 ;

4) @@ @ @) (@)

T.fY, e

AHL
fas. #x A

His! GERH =i

Match the pairs of the historical literature with its authors :

(a) Thorle Madhavrao Peshwe (i)
(b) Raja Shivaji : (it)
(c) Mochangad (iii)

(d) Afzalkhanachya Mrutyuche Natak  (iv)
Answer Options :
(@ (b} (o (d)
1) @) @ @ @)
(2) @ (v) @ (i
() @) @v) @ ()
@) @@ @ Gv) @

R.B. Gunjikar
M.M. Kunte
V.]. Keertane

Kondo Sakharam Ghate

el RIS T/ SPACE FOR ROUGH WORK
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28. e fecrem ot o = f99 e & fowm Fi=a siem e

(a) SHET AT HeA G o

(b) W iy H (i) IHT

(c) T A HA (iii) TETHA

(d) aferartis YT Haet (iv) TR
| At I :

@ () (9 (9
1 @ @ @) @)
@) @v) @) @@ @
@) O @ @) @)
4 @ @ @) (i)
Match the following companies and the places where they are located :
(a) Jessop and Company (i) Ranigunj
(b) Mackay and Company (i) Barakar
(c) Bengal Iron Company (iii) Asansol
(d) Alexander and Company (iv) Calcutta
Answer Options :

(@ () () (@
1 G @ 3§ @)
2 @) (@) @ @
@) O G @) )
@ G) @ Gv) ()

114
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29. eI i@ o =1 Fdll Ao e Jea

(a) e g @ wma

(b) THTH () Ry
(c) THTY (iti)  wIemef TrETENT
d) =R (iv) eRfasm
T I

(@) (b) () (d)
1 @ @ @) (i)
(2) @) 6v) @ (i)
(3 @) @@ @) @)
4) (@v) (@ @@ @
Match the following authors with their works :

(a) Bhaskar Bhatta (i) Bharat

(b) Mukteshwar (ii) Shishupal Vadh

(c) Eknath (i) Bhavartha Ramayan
(d) Shridhar (iv) Harivijay

Answer Options :
@@ () () (d)
Q) G @ (@) (i)

ol HWETS! 9rT/ SPACE FOR ROUGH WORK
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30. SE oo
(a) FORME favemER @
(b) HRME IR (i)
() TR HEh (i)
(d) oo freprelt Traet (iv)
Tafdt 39

@ (b () (d)
O O @ @ )
2) @v) @) @ @
G @ @ @) (@)
4 @ Gv) @ @)
Match the following :

[

(a) Krishnashastri Chiplunkar (i

(b) Morbhat Dandekar (ii)
(c) Gangadharshastri Phadke (ii)
(d) Vishnu Bhikaji Gokhale (iv)

Answer Options :

(@) () () (d)
1N @ @ GG @)
@ (v) @) @ 6
G @ O Gv) (i)
4) (@) @) @ 3G

114

Argued with reverend Dr. John Wilson on
Hinduism

Vicharlahari

Samudrakinaricha Vadvivad

Hindudharma Tatva

31. WIfgsd Wi fég Aemwe afds sifyaws 19 st 1923 TS Y o B W
HeRey A Hig ey 2.
(1) =GR (2) W= (3) R (4) @A

The annual convention of the All India Hindu Mahasabha was held on 19% August 1923 at
under the presidency of Madan Mohan Malviya.

(1) Haridwar (2) Punjab

(3) Kashi (4) Lucknow

Tl TS AT /SPACE FOR ROUGH WORK
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32. @AM Wt fafydss weenfyg e e
(1) 1862 (2) 1886 (3) 1892 (4) 1898
The Legislature was established in the Northwest Territories in .
(1) 1862 (2) 1886 (3) 1892 (4) 1898
33. 1977 9% Ao faewa . Sian qand 9 3 2.
(a) U (TH)
(b) WA eered (S.ueret), SHEd
(c) TRITEIETE H
(d) JSTEHISTETET 8
Tt I

(1) (@) 3o () (2) (b 3for (d) (3) (a), (b) 3O (d) (4) A wH
had joined the Janata Party during the elections of 1977.
(a) Congress(s)
(b) Bharatiya Lokdal (BLD), Janasangh
(¢) Democratic Congress
(d) Praja Samajwadi Party
Answer Options :
(1) (a) and (c) (2) (b) and (d) (3) (@, (p)and (d) (4) All of the above

34. @i faum fo=ma e .
(@) OIS STRIEHI Hag Jidrd T4 STTod 2.
(b) fodw s 1. T 9 9T TR SEHSATEN TETG SIS .
(c) &g Widren SR e Hfaaeme T Se.
FlTien! HIVE! faum staT TR ?
(1) () 30T (b) (2  (b) 3o () @) (a) = () @) (a), (b) 3 (c)
Consider the following statements :

(a) In ‘Quit India Movement the Bombay Presidency was at the forefront.

(b British government sent Mahatma Gandhi and Pandit Nehru in the prison of
Ahmednagar.

(c) ‘Pratisarkar’ was established in Bombay Presidency’s Satara district.
Which of the above statements are correct ?
(1)  (a) and (b) (2) (b)and (q) (3) (a) and () (4) (a), (b) and (c)

HoAT HIHTHIS AT/ SPACE FOR ROUGH WORK
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35. S 1e® 9 sfewras g/ A wevi @reiter T fa=r %,

(a) 3 HROTES WA ST fawr fieredt.

(b) T AfeE T A [T hel.

() e T ufect frat wiwg F0 39 e

FleTiet I T SET AR ?

(1) (2 = (b) 2 (b =T () (3) (a) 3 (o) @) (a), (b) 3T ()

Consider the following statements about Pandit Nehru and Non-alignment Policy.

{(a) India got global status due to this Policy.

(b) He stood for Non-aligned Movement (NAM).

{(c) First summit of Non-alignment nations was held in Cairo.

Which of the above statements are correct ?

(1) (a) and (b) (2)  (b) and () 3) (@) and () 4) (a) (b) and (¢)
36. HI HEGAH faeT=a e | fEgeamen wHRe’ ® 98 W HEE T ?

(1) 1858 &I (2) 1919 A (3) 1935 F1I< (4) 1947 F1I

The title of “‘Emperor of India” was abolished from British crown by .

(1) 1858 Act (2) 1919 Act (3) 1935 Act (4) 1947 Act
37. 1985 =1 HAGA A A Greiierdenl HIvR AE 7

(1) WS werE i

(2) ToRt wEcHes.

(3) we FfHdeEt wfi.

(4) sfear wifwa ®

Which of the following is not the salient feature of the 1935 Act ?
(1) Creation of a federal court.

(2) Bicameral Legislature.

3

) Committee for the making of the Constitution.
(4)

India Council cancelled.

HEAT HMMEE WA/ SPACE FOR ROUGH WORK
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38. @ faum faery =i

() HUG AT T’ (1940) 1 FEHR e,

(b) . A FafE TowE Teae gE wUN ARy .

(c) WM faqran e A Wi SEE S Hed.

(d) IS TERA faiaim e auist faarn faet,

R HU YW SET 3TRd ?

(1) (a) 3 (b) (2) (o) =for (d) (3) () 3 () @) o

Consider the following statements

(a) Congress had accepted ‘August Offer’ (1940).

(b) Mahatma Gandhi had instructed that individual Satyagraha Movement should be
started.

{c) Vinoba Bhave broke the Act against Free Speech first.
{(d) British government had given Vinoba Bhave imprisonment of 6 years.

Which of the above statements are correct ?

(1) (a) and (b) (2) (o) and (d) (3) (b)and (c) (4) Al the above
39. THEBUIYE W SOl SEel e @ T FBUHR TN Al S,
1) 75% @ 77% 3) 79% (4) 81%

of the landmass of undivided India was retained by India after partition.

1 75% Q) 77% (3) 79% 4) 81%

Hol THIHESE I/ SPACE FOR ROUGH WORK
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40. e e
WY - A
(a) TRIES =Al®
(b) T Fefre Wt off 3
(c) Yeorer Sumhfesm wd
d) fegeam drffoe fafsrs s
TETE Y
@ () () (@
1) @) @) 0 @
2 @) @) @ 6
3y @ @ @@ @)
@ @ O ) @

Match the following :

(a)
(b)
)
(d)

Column - A

Forward Block

Revolutionary Communist Party of India

Radical Democratic Party

Hindustan Socialist Republic Army

Answer Options :

1)
(2)
3)
(4)

(a)

(b)
(iv)
(i)

(i

(i)

(iv)

@
@)
0

¥
i)

()
(1)

(iv)

0
)
&
()

Wy - B
1928
1940
1942

1939

Column - B
1928
1940
1942
1939
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41, FHEA 5 Feen @ Fere A ?
(a) AT FHIEA X Heel QUM A= A TL Feei@ el
(b) A HSAHES YRA faveH O 2.
(c) <IN HEATFFhiT Tod= Tevaran TSR .
(d) Hiem auTEE! s wikwmet FiHd g Fed.
i I
(1) S (a) TR IR (2) B (a) M (b) TSR HEA
(3) % (a), (b) M () ST AMeA  (4)  FaB (b) M (d) T e
Why did the Congress reject the Cripps proposal ?
(a) There was no clear mention of when the colonial autonomy will be given to India.
(b) This plan was to divide India.
(c) Right of Indian states to remain Independent.
(d) No creation of an Independent Pakistan for Muslims.
Answer Options :
(1) Only (a) is correct. (2) Onmnly (a) and (b) are correct.
(3) Only (a), (b) and (c) are correct. (4) Only (b) and (d) are correct.
42. SirE el
WY - A WY - B
(a) wRR gisl wwd &d () guma faga yEE Hew
(b) Taz. FEER (i) Y SHeTFEA
(c) RHAR WIHUd Ui (i) ¥ HSX TH
(d) . SRS STasH (iv) T
Tatet I
@ ) (© @
W 6 @) @ )
@ @ ) O @)
@) @ @ @
@) @ @ ™
Match the pairs :
Column - A Column - B
(a) Maharshi Dhondo Keshav Karve () Dudhgaon Vidya Prasarak Mandal
(b) V.D. Sawarkar (i) Anath Balikashram
(c) Karmaveer Bhaurao Patil (i) Swatantra Majoor Paksh
(d) Dr. Babasaheb Ambedkar (iv) Mitramela

Answer Options :

@@ () (9 (9
LV @ (@) (@ ()
(2 @ (@) @ @i
(3 (@) @ @ ()
@ () @@ @) O

HoAT HUTES A/ SPACE FOR ROUGH WORK
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43, Wef¥ uidl SvE %4 afen dEdd Seierds! Fua Ty g TR ?

(1) ¥Rd GHRA WA IRAG € 9eat 39 TRfae.

(2) 39 1916 Wi @ Aigen fagamdisT=’ IO e,

(3) & 3s @ afeen fogamemErst’ e e,

(4) YT oS WA SUS WEATE FUH W Hel.

Which of the following statement about Maharshi Dhondo Keshav Karve is not correct ?

(1) Government of India had honoured him by the reward of ‘Bharat Ratna’.

(2) He founded ‘Mahila Vidyapeeth” in 1916.

(3) He founded ‘Mahila Vidyalaya’ at Hingane.

(4) He had worked as a Professor of English at Fergusson College.

44. G Taum faamm =
(@) 1915 U1 &g Werel T9 Hre.
) e 39 g TR Tl ofdeE W
(¢) T wemadlt W wer tfudem f4.31. Wt gien STt e,
T HIO g SRR 37 ?
1) (@) e b) (2 (b) s (c) @) @t (4 e
Consider the following statements
(a) Hindu Mahasabha was established in 1915.

(b) First conference of Hindu Mahasabha was held in Delhi.

(¢} Continuously six conference of Hindu Mahasabha were taken under the Chairmanship
of V.D. Savarkar.

Which of the above statements are correct ?

(1) (a) and (b) (2) (b)and (c) (3) (a) and () (4) All the above

HoAl FWEE 9T/ SPACE FOR ROUGH WORK
P.T.O.
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45, AT 9 Sy Fane arcyia GEte Ay e =
(a) STETHA AR W @UEANan i qeam 1d | § oa.
(b) e wRAE TRH Yo Hureh TG i e,
(c) w3 B Fidia faamein ai Soem f5a .
Flrate v faum g ot ?
(1) @fmE (2 E)IE) @) @3 (4 T wE

Consider the following statements about ‘Mahatma Gandhi’ and untouchability
Eradication :

(a) Problem of untouchability Eradication was not important than swaraj according to
him.

(b) He founded “Akhil Bhartiya Harijan Sevak Sangh’.

(c) He had not encouraged marriages between Savarna and Harijan.

Which of the above statements are not correct ?

(1) (a) and (b) (2) (b) and (¢) (3) (a)and () (4) All of the above

46, WS HIUG FGUH FFRA /4 ?
(a) AN fea® T TN PR Tt gU A g Sfere whare Tre e
(b) HAPRHU woe * foasrdt wet’ 9 Ao QU A1 JATAGT ARSI HE Hel.
(c) ‘Tguwer' ¥ orafesd ‘wUSt A Sust’ @ At MR e g

wafdr Y :
(1)  (a) 3N (b) gHI9 =, (2) (a) I () THA RA.
(3) T () GHI . 4) T (b) TP IR,

Which of the following statement(s) is/are wrong ?

(a) Lokmanya Tilak and G.G. Agarkar founded ‘New English School in Pune.

(b) Agarkar wrote first in the newspaper ‘Vijayi Maratha’ and later in ‘Sudharak’.
(¢) ‘Sudharak’ weekly was published in both Marathi and English languages.
Answer Options :

(1) (a) and (b) are wrong. (2) (a) and () are wrong.

(3) Only (c) is wrong,. (4) Only (b) is wrong.

Hea HIHEIA AT /SPACE FOR ROUGH WORK
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@ O @ @)
@ O @ @
@) @ 6 @
@ @ v @
Match the following :

Column - A
(a) Damodar Valley
(b) Hirakud
(c¢) Nagarjun Sagar
(d) Bhakara-Nangal
Answer Options :

@ () (o
1) @ @) @)
2 O @@ @
@) @) @ @
4) (@) () (i)

(d)

(iv)
(iv)

()

(d)
(i)
(iv)
(iv)
(i)

(@
(i)
)

27

w9 -B

fogr g 9fem s

Y FeW

Column - B
Bihar and West Bengal

Punjab

QOrissa

Andhra Pradesh
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48, SIS ATET

WH - A WY - B
(a) WS HEW® @ 1916
(b) HIETH A TG @) 1919
(c) <Uvg HAWE (i) 1918
(d) firol SRRt gfeet 39w (v) 1917
it I

@ (b) (o) (d)
1) @ @ (@ (@)
() @) @ @) @
®) (v) @ @) (i
@) () (@v) @) (i)
Match the pairs :

" Column - A Column - B
(a) Kheda Satyagraha G 1916

(b) Establishment of Sabarmati Ashram (i) 1919
(c) Champaranya Satyagraha (i) 1918
(d) First fast for mill workers (iv) 1917

Answer Options :

@ (k) (0 (d)
o O @ @ @)
2 @) @ (@Gv) @
3 Gv) @ @ @)
@) @ @) @ ()

AT THIHTETS 91T/ SPACE FOR ROUGH WORK
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49, YT o drefavaraid fmen 39 fafay veren wiai= uftag ol stenfeedt ?
(1) S A @) T frm
() e AR (4) ==t
Who called a conference of the leaders of different parties at Shimla, for solving the
Constitutional problems ?
(1) Lord Mountbatten (2) Stafford Cripps
(3) Lord Wavell (4) Churchill
50. et faasw s ¥R T Sedia Telierdeh! Hivn faur Y 378 ?
(1) 3T R Y=RE BUE il e el
(2) TR Faed WiHl WEHIT S,
(3) HIR YERIEEd i SeAg Fel.
(4) R SegTEd 99’ ¥ g e fefet.
Which of the following statements about Maharshi Vitthal Ramji Shinde is not correct ?
(1} He did work as a propagator of Arya Samaj.
(2) He took part in Disobedience Movement.
(3) He did Satyagraha for entry into the temples.
(4) He wrote the book entitled ‘Bhartiya Asprushyatecha Prashna’. (India’s Untouchability
Question}.
51. WEfesh HIvM fauM @ o ?

(1) 9RG SEHRA WER Fiataan faar Foadt ) |fid Fet.
(2) TRAE T4 § Ul wifte: Ty Fmior g,

(3) 3Ty WRW & e wiftes T=a fwia w1,

(4) 'Ueg gAE AT - 1956 ¥ REET WRA T 9T e,

Which of the following statement is not correct ?

(1} Government of India had appointed Dar Committee to consider Linguistic reorganisation
of states.

(2} Maharashtra state became first state created on the language principle.
(3) Andhra Pradesh became first state created on the language principle.
(4) ‘State Reorganization Act - 1956’ had passed by the government of India.
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52. 3.9. 1920 UL} AR 39 ‘ sregvart oftwg’ vl swael a2

(1) TR HRTAHR (2) TSI SAT ARG TR

(3) wef fagaa s fii] (4) Wefd S Fva w4

Who organised A Conference of Untouchables at Mangaon in 1920 ?

(1) Kaka Kalelkar (2) Rajarshi Chhatrapati Shahu Maharaj

(3) Maharshi Vitthal Ramji Shinde (4) Maharshi Dhondo Keshav Karve
53. Sl o

WY - A W - B

(@) IFF sifEn Tem @ 1924

(b) SFAT wg N T (i) 1947

(c) ST TRrEmT ek (i) 1954

(d) Td IS RS it (iv) 1932

idt 39T ;

(@ () (9 (d
1 @O @ @) (@)
@ (v) @) @ @)
@) @) @v) @ @O
(4) @) (i) @Gv) ()
Match the pairs :

Column - A Column - B
{a) Union Boarding House (1) 1924
(b) Chhatrapati Shahu Boarding House (i) 1947
(c) Chhatrapati Shivaji College (iii) 1954
(d) Sant Gadage Maharaj College iv) 1932

Answer Options :

(@ () (g (d)
1) @ @ @) (v)
(2 (v) () @) (i
(G) () @Gv) @ @
@) @ @) @v) @

THoAT HEHES AT/ SPACE FOR ROUGH WORK
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54. i IEERY NASHUA dEdid G [auHE! faar #4 :

(a) iespa feaaiioll T¥= TG HT 1928 Hed Fefl.

(b) WA ST Wfiweiien A WiHdE ¥ Seae 8.

(c) ‘YRR sfesha-Toaeror yuReE deaE’ =i S Fa.

FAIHT HIvRT fEm aRER 3T ?

(1)  (a) S (b) 2 (b) @ () (3) (a) ¥ (c) @) (a), () 3 (c)
Consider the following statements about Dr. Babasaheb Ambedkar.

(a) He founded ‘Bahishkrut Hitkarini Sabha’ in 1928.

(b) He was the president of the Drafting Committee of the Indian Constitution.

(c) He founded ‘Bharatiya Bahishkrut Shikshan Prasarak Mandal'.
Which of the above statements are correct ?

(1) (a) and (b) (2)  (b)and (o) (3) (a)and (¢) 4) (), (b) and ()

55.

3.9. 1889 u+Y ‘gefigere omifuauyF ofw ot sfean’ o Sl T ot FHeft et ?

(1) TS TR AR (2) wERd TifeE T

() @ feah (4) W= YT Fua wd

Who founded the Institution named ‘Industrial Association of Western India’ in 1889 ?
(1) Gopal Ganesh Agarkar (2) Mahadev Govind Ranade

(3) Lokmanya Tilak (4) Maharshi Dhondo Keshav Karve

56.

‘AT ST e fafew wieltiew s vt R Ao 2 o i e ?

(1) e et 2) T yER

(3) uEfufaarm=zn (4) AR TBE

Who said that the Cripps Plan was a still-born child of the British Parliament ?
(1) Mahatma Gandhi (2) Rajendra Prasad

(3) Pattabhisitaramayya (4) Jawaharlal Nehru

HoAl HIES AR/ SPACE FOR ROUGH WORK
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57. @i SR faum e o ?
(a) . S T fgrgaera fagia it e,
(b) Sl HEHT yallet AT Ifh&aTl shedAT Y9H Hiat.
(c) TR UE IEHIEM Fil ' TiH AR A=’ 1 YRdehd 9w ‘WifhEar’ 8 vIeg Ao,
Tafdt I
(1) (a) (2) (b) FH (3} (o) % (4) bawd
Which of the following statement is not correct ?
(a) Barrister Jinnah had asserted the “Two-Nation Theory’.
(b) Dr. Mohammad Igbal had introduced the concept of Pakistan for the first time.
(c) Sir Sayyad Ahmedkhan used a word ‘Pakistan’ first in his leaflet ‘Now or Never'.

Answer Options :

(1) (a) only (2) (b)only (3) (c) only (4) All the above

58. Widie faum fa=ma =
(a) 15 IRL 1969 Vit Iea ww fmd sifamages =t ffH et
(b) VR TR FE HEE (3 T FEed STeral .
(€) 1975 W YRAM STohm o J9Rea i qarder e,
et FIuTd faEe SR oTRd ?
(1)  (a) 3T (b) (2) () 3T () (3)  (b) 3 (c) 4)  (a), (b) 3T (c)
Consider the following statements :
(a) ‘Indian Space Research Organization’ was established on 15t August 1969.
(b) Head office of Indian Space Research Organization (ISRO) is in Bangalore.
(c) India had debuted successfully in the world of space in 1975.

Which of the above statements are correct ?

(1) (a) and (b) (2) (a)and () (3) (b)and (c) 4 (a), (b) and (c)
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T TG HHR (1953) ST T TR SAfae et e 2
) TRE WA T TR WSH

(2) TSNS TR0 T HHRS &

(3) eTET IRV T AU WEH

(4) wFoRERE MSe 9 qLfE. e

Identify the pair from the following who were not the signatories of the Nagpur Pact
(1953) ?

(1) Ramrao Deshmukh and Gopalraoc Khedkar
(2) Yashwantrao Chavan and Bhausaheb Hire
(3) Devising Chavan and Laxmanrao Bhatkar
(4) Dhananjayrao Gadgil and D.V. Gokhale

(1

60.

‘Ferqant' =1 THTERVIARE] SFSEEHE] TEURT & STENEHE 4SSl Sfesn.
(1) qome TR G 0 e

(2) EvEE W F TR S

(3) YT UEH T HEH T

(4) aeTdet wHE TR

Identify the correct pair for their participation and leadership in ‘Chipko” Environmental
Movement.

(1) Mrunal Gore and Durga Bhagwat

(2) Chandiprasad Bhatt and Goura Devi

{3) Medha Patkar and Arundhati Roy
)

{4) None of the above

61.

TR G o &7 (H9E 89) 2 M 9.

(1) Heg=ar e (2) S

(3) Had=n faroren (4) Heg=n @en

State the location of mineral oil field (Mumbai High) in Maharashtra :
(1) West of Mumbai (2) North of Mumbai

(3) South of Mumbai (4) East of Mumbai
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62.

34
JovrEeIiae! afHg FER e § faor genenier AT 3T,
1 = (2) TR (3) R 4y YR
Nighoj, a famous place for potholes is in taluka of Maharashtra.
(1) Shirur (2) Sangamner (3) Parner (4) Junnar

63.

WA IO FROT Hiowor] g@e wr Fmior sen o ?

(1) I 99 fFm SaEem

(2) VRS YSHIE YREHHE W @t Gue

(3) wRIEl wearen FAfHfdies

4) YR AR @ HEges

By which of the following reason the lowland area of Konkan is formed ?
(1) Due to upliftment of the Arabian Sea cost

(2) Due to the subsidence of western part of Maharashtra Plateau

(3) Due to the creation of Sahyadri Mountain

(4) Due to the erosional work of Sea waves

64,

eI SN oy STFRHS Siadzed 918 @@ 2

1) fEh, gee, =i

2) famiad, J97, iR

(@) TRHW, Hicaet, gl

(4) =feaeh, Sireed, Aana

In which of the following Mumbai Suburbs Bauxite deposits occur ?
) Dindoshi, Mulund, Versova

(2) Vikhroli, Chembur, Anushaktinagar

(3) Ghatkopar, Chandivali, Kurla

(4) Borivali, Jogeshwari, Goregaon

FoAT HITAE ST/ SPACE FOR ROUGH WORK
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65. $ aflge YA o = fée e, Sagi 29k geEe TieaEt S
Vo faaaes TR IRy Ffddwe e o,
(1) 3T () 3-m (3) 3-fram (4) 3-"e

is a Pan-Indian electronic Trading Portal, which networks the existing APMC
mandis to create a Unified National Market for agricultural commodities.

(1) e-NABARD (2) e-NAM (3) e-Kisan (4) e-Market

66. WY fguemeafawed g W faer :
(a) R fgoFeq siafdes Gemn fasga &
(b) R N ATEFE TEH He.
(c) vIRdE fEohed Yia wieaumrga So Hiesumme ard 7.
(d) uRHHE ferreaer fermeai=n @ = sEvy AEer Ium.
et 36T
(1) (a) faum 4y ame
(2) (a) 3 (b) faum 9ra smea
(3) (a), (c) T (d) faum d9rg amRa
(4) §d faun A4 ea
Choose the correct option about Indian Peninsula.
(a) Indian Peninsula was adjacent to the Antarctica.
(b) Latter on it drifted towords Northwest.

(c) Indian Peninsula drifted from frigid zone to tropical zone.

(d) The remnants of glacial erosion are found on the Indian Peninsula.

Answer Options :

(1) (a) is correct statement

(2) (a) and (b) are correct statements

(3) (a), (c}) and (d) are correct statements

(4) All are correct statements
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67. eI Ufgedr ToAN foi SAMEEA aled AT SV yEdrE i w2

(1) Fovm @) T (3) v ¥F (4) e TR

Which land form is created by the river when it flows from the steep slope in the first

stage 7

(1)g Pot holes (2) Natural Levees (3) Alluvial cones (4) OX-bow lakes
68. I SEN HlUME Hie"o FHIV Faifeeh .

(1) 3IFuteme (2) e 3) fomrz (4) e

The highest proportion of carbon is found in coal.

(1) Anthracite (2) Bituminous (3) Lignite (4) Peat
69. Sl ol :

AR e

(a) FwTER (i) 3R

(b) T () e

(c)  TTedE (iii) TR

(d) T - AT (iv) ¥R

i Y

(@ (b) () (d)
(1) @ Gv) @ ()
(2 @@ G@v) @) @
() G (iv) i) )
(4) G (v) (@) (@)
Match the following :

Sanctuary District
(a) Nagzira () Aurangabad
(b) Tadoba (i) Gondiya
(c) Gavtala (i) Nashik
(d) Nandur - Madhameshwar (iv) Chandrapur

Answer Options :

@ (b (© (9

M @ @) @) (i)
2) @) @v) @) (@)
(®) @) @(v) @ @
4) (@) @) @ )

HeAT HIHEIE ST/ SPACE FOR ROUGH WORK
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70. =9 WA Ueng Ffdaet it S g 9T ?

(1) dis 2) TTEE (3) wE (4) e

Which of the following mineral is used in Production of High Quality Steel ?

(1) Copper (2) Limestone (3) Manganese (4) Bauxite
71. YHEIUTS B HERIwIa eSS TR,

1) ¥ 2) Y=E @) TH (4) poT=

Dharmavirgad is in village of Maharashtra.

(1) Mahur (2) Pedgaon (3) Purandar (4) Phulgaon

72. 3.4 1911 7 Todicean ' siniifas waietomade S9N A G S I SARE ?

(1) Wt Ew (2) 3euad e
(3) ST 31 gelee @) T == SO
Who is the writer of a book, ‘Influences of Geographical Environment’ written in 1911 ?
(1) Friedrich Ratzel (2) Ellsworth Huntington
(3) Alexander Von Humboldt (4) Ellen Churchill Semple
73. @], 9, WX N0 A AT HERTERE =1 S SR
1) = (2) @ (3) =t (4) THET
Tarun, Ujwal, Sagar and Mayur are the varieties of in Maharashtra.
(1) Onion (2) Brinjal (3) Chilli (4) Cucumbar
74. Q=T FAOMHG M MR AT L AT IR Seren 3.
(1) @ sufon adas (2) fachs sufon sfegfiriam
3) fraasr (4) FFrew 5 Seumh
Core Part of the Earth is mainly made up of and minerals.
(1) Iron and Thorium (2) Silica and Aluminium
(3) Nickel and Iron (4) Uranium and Heavy Water

oAl HIATHS T/ SPACE FOR ROUGH WORK PT.0
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75. NI HIVEH FREFTEE ST e 3R ?

(a) @R (b) =2 (©) ¥« (d) feme
It 39

(1) T (a) (L) (2) T (b) S () (3) T (b) SN () (4) T (a) (N (d)

Which of the following are coastal depositional landforms ?
(a) Headland (b) Beach (c) Stump (d) Spit

Answer Options :

(1) Only (a) and (b) (2) Only (b) and (c) (3) Only (b) and (d) (4) Only (a) and (d)

76. @EIedant IV $-3TRR TaI=A1 $iel HLvar=A1 e i gt ?
(1) @A (2) W= (3) SToREe (4) T0awd

Which of the following land form is formed by the work of erosion by river ?

(1) Crescent dune (2) Lake (3) Potholes (4)  All of the above
77. oo & famn 71 39 o= T STEURT 9" Y U

(a) W foremman snfor famn faemman

(b) NS faemma

(c) Tere faeman snft Tier farerman

qatdt I

(1) 9 (a) T 3R (2) TR (b) TS 3T

(3) (a), (b) T 3MRA (4) FH (c) T R

The layer between Sial and Sima is called as

(a) Moho discontinuity and Sima discontinuity

(b) Conrad discontinuity

(c) Gutenberg discontinuity and Moho discontinuity

Answer Options :

(1) Only (a) is correct (2) Only (b) is correct
(3) (a), (b) are correct (4) Only (c) is correct

FoAT HHHEIS 90T/ SPACE FOR ROUGH WORK
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78. I A2 T SEAE AR MM AEHEH S ITH e ?

(1) e (@ W (3) <= (4) e

Which river is a tributary of Ganga river and originates near Amarkantak ?

(1) Damodar River (2) Son River (3) Debang River (4) Narmada River
79. SR fSegdia Qelel YUl Tl Sediush! hivHl Sier ar g ?

(a) IR - T eI i

(b) IFeTETS - foemm A s

(c) = B GRIE EERCGE I RS

(d) < - YA S R

it I :

(1) (a) ST (d) (2) (a) 3 (b) () T (b) (4) T (c)

Which of the following pair of Tourist places in Buldhana district is not true ?

(a) Lonar - Demon Sudans Temple

(b) Deulgaon Raja - Birth Place of Jijamata

(c) Shegaon - Saint Gajanan Maharaj Samadhi

(d) Jamod - Ancient Jain Temple

Answer Options :

(1) (2) and (d) (2)  (a) and (b) (3) (b) only (4) () only
80. 3feE dud, garee, ey, @ @ = wAdH a7

(a) HHeER

(b) TriEr

(c) e & < foamEoh

qait I ;

(1) R (a) TR MR, @) (@), (b) TR 3.

(3)  (a), (b, (c) TN 3TeT. (4) R (b) SIS MR,

Ellen Semple, Humboldt, Ritter, Ratzel are supporter of

(a) Possibilism

(b) Determinism

(c) Stop and Go Determinism

Answer Options :

(1) Only (a) is correct. (2) (a), (b) are correct.
(3) (a), (b), (c) are correct. (4) Only (b) is correct.

oAl |V I/ SPACE FOR ROUGH WORK

P.T.O.



114 40 A
81. ‘SN Geded fagia’ w fagia wiswR R fawars sarge €.
1) e (2) e (3) ifasmeme (4) iR
Wegner, who propounded ‘Theory of Continental Drift’ was scholar of .
(1) Geography (2) Biology (3) Physics (4) Geology
82. 1 VAT AT [EhR Heldl 378,
1) 9 2) &= (3) faemefem (4 =i
scientist is a supporter of possibilism.
(1) Brunhes (2) Ratzel (3) William Davis (4) Kant
83. WTClieTieh! HERTERIE IV Ties=l THIAY JEhI=A WITH oh TREr WL el ?
(1) T<igr eiven (2) &S TTT
(3) S do (4) T 3w e
Which one of the following is not included in the UNESCO’s cultural heritage site in
Maharashtra ?
(1) Ajanta Caves (2) Ellora Caves
(3) Elephanta Caves (4) Gateway of India
84. Uf¥=W WENE T 9 _ RIEICIEEE C R IO
(1) =l ) @ (3) giEm 4 FH
Shifting Cultivation in Western Ghats is known as .
(1) Valre (2) Khil (3) Jhuming (4) Kumri
85. WicTdeh! Hiv Tarem,/ faum sHrer 3,/ med ?

(@) 3o e i T Frew, wfre, dEs T TEiiE g A 36 RoE 9w
ESIE IR

(b) TRRTEM™ 2! Hiesemar Faifues arr afifeors s ffifdramet wear sl

T I

(1) % (a) (2) ¥ (b)

(3) T (a) T (b) TR M (4) IR SR TR

Which of the following Statement/Statements is/are correct ?

(a) Coal, fossil fuel, wood and natural gas are used for thermal power generation.

(b) Maharashtra uses maximus coal for the generation of thermal power.

Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a} and (b} are correct (4) None is correct

HeAT THIMTEIS! AT/ SPACE FOR ROUGH WORK
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86. W HI0ET fHFAT=N YR FIFHUNGT el ?

(1) fon (2) fearg

3) SRRAfEE (4) SOATH FURE TR

Which of the following type of Coast is found in Konkan ?

(1) Ria ~ (2) Fiord

(3) Dalmation (4) None of the above
87. WRAW 3al geareA 9=y TBR 3G,

1) TETS 2) WANES (3) TR 4) deoEs

plateau occurs on the Western side of Aravali Mountaism in India.

(1) Mewad (2) Marwad (3) Malwa (4) Bundelkhand
88. 9 ST W YRR YHeE A a9 eI ST SMEed.

(1) o (2)  STomHL (3) NS (4) <

Where land enters the sea pattern of settlement is found.

(1) Linear (2) Arrow (3) Star (4) Square
89. 3y, ifaer, S 9 widiies o1 HERMRIS T9ehr=a1 STl 37

(1) wm @ TE 3) I (4) =ik

Apsara, Ambika, Chanderi and Krantigold are the varieties of

__crops in
Maharashtra.

(1) Paddy (2) Wheat (3) Jowar (4) Bajara

THocl SHIMTETS AR/ SPACE FOR ROUGH WORK P
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90. ‘uiar ¥ w1’ faarEeia ¥ Y€ Y9 99! .
(a) SToRISURM gHlee
(b) Tuftra e
(c) 3T H¥ua
ugidr 3497 ;
(1) T (a) U AR 2) (a), (c) IS T=RA
(3) T (b) SR MR @ (@), (b), () T T

is known as the Pioneer of ‘Stop and Go’ determinism.
(a) Alexander Von Humboldt
) Griffith Taylor
c) Ellen Semple
Answer Options :

—

(1) Only (a) is correct (2) (), (c) are correct
(3) Only (b) is correct (4) (a), (b), (c) are correct
91. 2011 = STTUHYH HERIE e Gaiiees TR0 Sedd YRad fhadn s o 2
(1) ufeen ) T 3) fawn (4) =en
According to census 2011, Maharashtra stands which rank in most urbanized state in
India ?
(1) First (2) Second (3) Third (4) Fourth

92. A WErHier Geuidiel @reiter faum e,
(a) WE fafifa TemmEe aea FEfm 0 € Wi 2 3.
(b) 1992 T WIE WLHHM FIAHARIS ASAE TIR Fored] Tl Tae’ 31 iemhior Sl
(c) TEEsR 1997 Wl WidrnicTar Wan FIeT.
i A
(1) T faum (2) s a8
) e faum (b) SR R
3) Taum (a), (b) 3 () TR AT
@) TauA (a) anfir (o) F=T oTRA
Observe the following statements about Kyoto Protocol.
(a) The aim of the protocol was to address the problem of anthropogenic climate change.
(b) Protocol extended 1992 United Nations framework on climate change.
(c) Protocol was signed in December 1997.
Answer Options :
(1) Only statement (a) is correct
(2) Only statement (b) is correct

(3) Statement (a), (b) and (c) are correct
(4) Statement (a) and (c) are correct

FHSAT HIATHTS ST/ SPACE FOR ROUGH WORK
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93, ST ST gaus) yH@ et arge v fRdt < % 3 2
(1) 0.10018 (2) 20.9476 (3) 0.0934 (4) 0.0018

What is percentage of Neon (Ne) principal gas in dry air of atmosphere ?

(1) 0.10018 ) 20.9476 (3) 0.0934 (4) 0.0018

94. Ther vl w4 oG ?
(1) Hifge-19 T deed o fawm
2) SurR falef v ANEE e
(@) T FFAFAEET SWR T HI0AE! SAGEH HE
(4) Tt T
What is Mission Shakti ?
(1) Research and development of Covid-19 Vaccine
(2) Operation code of antisatellite weapon

(3) Operation code to destroy satellite from Tamil Nadu coast

(4) None of the above

95. YA HAYTT WU F 7
(1) eI AMmMSEm SR TE T (2)  10° TR 2 2farm w5 gm v
(3) 60 I Mo SR @ UG (4)  90° IR Ifor <farer Sied g e
What is horse latitude ?

(1) 30° N and S high pressure belt (2) 10° N and S low pressure belt

(3) 60° N and S high pressure belt  (4) 90° N and S high pressure belt

oAl HIATATS W /SPACE FOR ROUGH WORK P.T
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96. SIS e :

Lty ELD
(a) A @ SPOT
(b) w& (i) IRS-1A
(c) (i) LANDSAT
(@) i (iv) JERS-1
qafdt 39

@ () (o (4
Q) G Gv) (@) @
2 O @) @) ()
3 @) @ @ ()
4 (v) @) @ @)
Match the following :

Country Satellite
(@) Japan (i) SPOT
(b) India () IRS-1A
(¢) France (i) LANDSAT
d) US.A. (iv) JERS-1

1) @ v @) (@)

(2) @ (@) (v) (i)
G) @@ @ @ (@)
@ (v @ @ ()

HeAl RIS AR/ SPACE FOR ROUGH WORK
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97. WEiA fau™ wel.
(a) wUfg mEMETET dAfdt 601 ffl. 3.
(b) TG RIS Yo & TG AR 8 TR T FHTA e,
(c) B HemMI RmaTE R < 5[ fieren .
wEret I
(1) wF faum () TR T2
2) W AU (b) U 3.
(3) Taum (a) anfn (b) A AR
(4) TuA (), (b) W () TqR 3,
Observe the following statements :

(a) The length of the Samrudhi express way is 601 k.m.

(b) Mumbai to Nagpur distance can be completed in 8 hours due to samrudhi express
way.

(c) This express way passes through the South side of Aurangabad city.
Answer Options :

(1) Only statement (c) is correct

(2) Only statement (b) is correct

(3) Statement (a) and (b) are correct

(4) Statement (a), (b) and (c) are correct

oAl SHIFTHIS AT/ SPACE FOR ROUGH WORK PT.O
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98, Sl 4
FETHI Weh1T i o
(a) Ty o (i) Csa
(b) SUEHfEHE E M FRE () Am
(c) forgeeita et (i) Af
(d) YEEAIIEE (iv) Aw
it I

@ ({b) (9 (@

(
) (v) (@ G (@)
Match the following :

Climate Type Koeppen Symbol
(a) Humid equatorial (iy Csa
(b) Tropical wet and dry (i) Am
(c) Equatorial monsoon (i) Af
(d) Mediterranean (iv) Aw

Answer Options :
@@ (b (o (d
M @ G @ ()
() @) (@v) G @
3) (@) @ @) (i)
@ (v @ (@) @)

99, YR HIEM HeiieA anfor faeers Te=t T dhegl e ?

(1) 1948 (2) 1958 (3) 1938 (4) 1968
When was the Defence Research and Development Organisation established in India ?
(1) 1948 (2) 1958 (3) 1938 (4) 1968

ol SHIWETS! AT/ SPACE FOR ROUGH WORK
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100. TR H9eT F1I 3T ?

(1) < FoEr T 1.5°F/ KM
(2) HH BrTER WHOT 2.5°F /1000 M
(3) HHI BvET= WA 3.5°F/1000 ft

(4) SHH TAR FHEI 4.5°F/K.M.

What is normal lapse rate ?

(1) Decline amounts to 1.5°F/K.M.
(2) Decline amounts to 2.5°F/1000 M
(3) Decline amounts to 3.5°F/1000 ft
(4) Decline amounts to 4.5°F/K.M.

101, SFHITIAT 2011 THTO Gicie TSeRliel Th Amae] Hevid Saedl shy e,

(2) iR b) g () STEATTW

(d) §ET (e) Ve (f) ST
Tt Iy

1) (@) @, © O) @ @ @ (@) © @), @ OO
3) @) (o) © (@), (O, ®) @  (© (). @) @, ), @

Arrange the descending order of the following districts regarding total population as per the
2011 census.

(a) Nanded (b) Latur () Ahmednagar
(d) Satara (e) Jalgaon () Jalna

Answer Options :

1) (&) @ (9, ®). (). ©) 2) (@) ©) (@, @) ®) O
G) (@ (e, (9 (@) (©), ®) @) (9 @) @ @) ®), 6

102, SFRIOAT 2001 YA fRedt 2okh S TR Teamd St T SUeriaiG e o 2
(1) 4.24 (2) 2.24 (3) 3.34 (4) 5.02

How many percentage of people migraited from other states to Maharashtra state as per
census 2001 ?

(1) 4.24 @ 224 (3) 3.34 @) 5.02

HEAT HFEES AT /SPACE FOR ROUGH WORK PT.0
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103.

48 A
HTTF TSt WU 1Y ?
(1) 80% =EA AT 20% HeH SHATFAES HHITTE
(2) 60 Tehe 70% HeF SHETaAEE M0 40 fFar 30% AAEH SFEE Tl
(3) 80% THLA AFEE MM 20% T Tl
(4) 90% 3ffedis snfor 10% dfeam wafa=

What is acid rain ?

(1) Contains §0% Carbon and 20% Sulphur dioxide

(2) Contains 60 or 70% Sulphur Dioxide and 40 or 30% Nitrogen Oxide
(3) Contains 80% Nitrogen Oxide and 20% Oxygen

(4) Contains 90% Oxygen and 10% Helium

104. Toamf =i=ar gamE ety g e Hivm gamm sTees ?

(1) AM (2) Bsh
(3) Csh (4) TRt TR

As per Triwartha climate classification which type of climate is found in Sindhudurg
district ?

(1) AM (2) Bsh
(3) Csh (4) None of the above

105.

WRATHEA TATeROT &0 Higa] heel Tr hell ?

(1) 19 T 1986 (2) 20 TET 1976

(3) 20 fedax 1996 (4) TATR AT
When was environmental protection act implemented in India ?
(1} 19 November 1986 (2) 20 November 1976
(3) 20 December 1996 (4) None of the above

HoAT HATATSI AT/ SPACE FOR ROUGH WORK
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106.

49 114

wefte faum @1 -

(a) dHT AE ¥ YSSTIRA 2000 Her= @reft fmio g,
(b) TRHEY ¥ I IEA A TR

(c) THIRUTHE To= T S THRH e,

TR I

(1) four (a) 3nfon (b) SRR 3mRA

2) faum (b) anftr () TR e

@) o @), (b b (o) T T

4) faum (a) suftr (b) TR TR

Observe the following statements :

(@) Cirrus clouds are produced below 2000 meters from land surface.
(b) Stratus clouds are high altitude clouds.

() Konkan rainfall is convectional type.

Answer Options :

(1) Statement (a) and (b) are correct

(2) Statement (b) and (c) are correct

(3) Statement (a), (b) and (c) are not correct
(4) Statement (a) and (b) are not correct

107.

U RARE SRSt A2 0T YhREl IS IS el 2
(1) ewed (2) e

(3) Wiy (4) A A
Which type of rainfall is observed at Cherapunji in NE India ?
(1) Cyclonic (2) Convectional
(3) Orographic (4) None of these

108.

HIATE GIciTerden! v Tiaet HE Jod T 37 2

(1) STEU=d W (2) fearaa wew

(3) TSI WY (4) wHEER

Which of the following is India’s first carbon free state ?

(1) Arunachal Pradesh (2) Himachal Pradesh
(3) Madhya Pradesh (4) Kashmir

Hol IS 9T/ SPACE FOR ROUGH WORK
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109. 39-3I% HieqHia ST TR FoRHTH SU-FHiaeia FHl SURN RIFS HoW g Tn

TR ?
(1) oTeetE 9 (2) V& ax
(3) il an @) =R

Which planetary winds flows from sub-tropical high pressure belt to tropical low pressure
belt of atmosphere ?

(1) Cyclonic winds (2) Anticyclonic winds
(3) Anti trade winds (4) Trade winds

110. GETAYH Hvd faum aET s ?
(a) vt wifsd JunehgR Fagron a71ftn MeE=gATa v 8% v,
(b) Tuwmi= arg it ST enTEUATESt X WIS T ST €S VG L
(c) faer et gomei=r ST It T Fen S,

W"‘ff I
(1) faum (a) a0for (b) (2) faum (a) 31 (c)
(@) faum @) afn (o) (4) faum (a), (b) = (c)

Which of the following statements are correct ?

(a) Itis possible to study erosion and sedimentation through Geographic information system.
{p) Remote sensing technic can not be used to study growth and health of crop.

() Global positioning system is used in agricultural machinary.

Answer Options :

(1) Statement (a) and (b) (2) Statement (a) and (c)
(3) Statement (b) and (c) {(4) Statement (a), (b) and (c)
111. W T G dfeed Srifaes g@fao afivg 1972 Hed Ve AR et S
(1) Tadw @ i
@ s (4) =

UNO organized first world conference on environment in the year 1972 at
city.

(1) Stockholm (2) Johannesburg

(3) New York (4) Paris

HoAT HES ST/ SPACE FOR ROUGH WORK
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112. Gt HIoR TREES 1o 37 ?

(@) it T (b) = TEA
(c) UWE =H (d) SeREmEtE w%
a9
(1) wH(b) (2) (a), (b) S (c)
@) (@) () I (b) @) (@ (b), (c) =T (d)
Which are the attributes of ecosystem ?
(a) Energy flow (by Food chain
(¢) Nutrient cycle (d) Biochemical cycle
Answer Options :
(1)  Only (b) (2)  (a), (b} and ()
(3) (d), () and (b) (4) (@), (b), (0) and (d)
113. € TR Tenufdie e faem o
(1) waE () derm (@) duE @ T
is an important biomes in North Hemisphere.
(1) Campos (2) Savanna (3) Pampas (4) Taiga

114. ‘Traefem’ € 9RE0T SEEor= SV A= /99 HOIEET 9 Wi 2

(1) SETTE qeEE (2)  SIIEROT S

(3) SISO S (4) STAEROISE e
‘Milibar’ unit is used to measure which element of weather ?

(1) Atmospheric temperature (2) Atmospheric pressure
(3) Atmospheric density (4) Atmospheric mobility

115. GEHedht VM FAGE AT Fhae e fer ad= Fleas WA Heaan S ?

(1) 1901 - 1921 (2) 1921 - 1951

(3) 1951 - 1981 (4) 1981 - 2011

Which of the following period is known as the period of steady growth of population in
India ?

(1) 1901 - 1921 (2) 1921 - 1951

(3) 1951 - 1981 (4) 1981 - 2011

FHoAl HEHE AT/ SPACE FOR ROUGH WORK PT.0
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116. TAeTdehl SHI0MT Ta SFeX TeT Fohrad wiafifue e ?
1) YIS gHam T (2) fefsem wferamm wiga
(3) T e wfam (4) 3Hg ITUT wiam
Which of the following options represents vector data types ?
(1) Ground Survey Data (2} Digital Elevation Model
(3) Scanned Images (4) Digital Satellite Images
117. SYUiqd SUrEa dfireaae gala S aedien W) 39Ue giaden a1 JHOT
S A
(Iy 1:24,000 {2) 1:8,000
(3) 1:10,000 (4) 1:600
In satellite Imagery most plant species can be recognised almost entirely by their morphological
characteristics on __scale.
(1) 1:24,000 (2) 1:8,000
(3) 1:10,000 (4) 1:600
118. Y™ HREN 1 TS 90 1, TR SREaSH o 3T 8 e
(1) T faum (2) R faam
() & -few faum (4) q&H T faum
Earth’s atmosphere absorbs wavelengths and hence can not be used in Remote
Sensing.
(1) Visible Regton (2) Infrared Region
{3y X - Ray Region (4) Microwave Region
119, THRIR TF fHgueia Aiee Sat 3 . e, Tai SHfesnia dafyn A 12 9.4, IR

THTET Thel 1 : 50,000 3T, TR SHETaAde Sher=l oA %
(1) 1:10,000 (2) 1:2,00,000 () 1:12,500 (4) 1:1388

The distance measured between two points on a map is 3 cm. The corresponding distance
on an aerial photograph is 12 cm. Calculate the scale of the photograph when the scale of
the map is 1 : 50,000.

(1) 1:10,000 () 1:200000  (3) 1:12500 @) 1:1388

wHoeaT HIUTETS ST/ SPACE FOR ROUGH WORK

[ - B e e



A S3 114
120. <ifaes T doicl weeh/TiH F=0 et o HEy g ?
(@) waEmy/YfE () FA (c) 7w (d) TR WRET
et I
1) (a) AT IR
2) (b) T (c) AT 3T
3) (c) T (d) Ara A
@ (@ O) () F(d) I TR
A Global positioning system receiver consist of .
(a) Antenna (b) Camera (¢) Telescope (d) Infrared light
Answer Options :
(1) (a) is correct
(2) (b} and (c) are correct
(3) (c) and (d) are correct
(4) (a), (b), (c) and (d) are not correct.
121. S el ¢
SIEEC) TR Wl
(a) HefREH (Mg) () e faerTe TR T FRRieo Hed
(b) < (Zn) (i) ST PERE A ®WH w1
(c) Wife=sT™ (Mo) (i) fad=w frammemy
(dy fafasd (Si) (iv) wrame Frsufoens wtt aRfad
Tt I

(@) (b) () (d)
(1) Gv) @) (@) ()
(2) (@ @y @ @)
(3) @) @v) @) (i)
4) @) @) @) @
Match the following :

Nutrients Functions of Plant
(a) Magnesium (Mg) (i) Helps in atmospheric nitrogen fixation in legumes
(b) Zink (Zn) {ii) Acts as a carrier of phosphorus in plants
(c) Molibdenum (Mo) (i) Enzymatic activities
(d) Silicon (5i) (iv) Increases resistance of rice against insect pests

Answer Options :

(@ (b)) (9 (d)
(1) @v) (@) (@) G
(2) @) @@ @O (i)
3y (@) (v) () (1)
4) @ @) @) @

o WIUE ST/ SPACE FOR ROUGH WORK
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122. Uish ARTHLIA A, BATHH S Fieh sqaeereq s{He 41 Tt forama s faae & fafaset feen

E GG A (E3) Y wUEE.
(1) TS A (2) o7 At v
(3) TS At (4) T fue gad

may be defined as an accurate application of agricultural inputs for crop growth,
considering relevant factors such as soil, weather and crop management practices.

(1) Precision technology (2) Precision farming system
(3) Precision farming (4) Precision cropping system

123, SIS T ST € T STIEyas® 91 ST GIeieish! S ¢ Heiia AR ?

(a) IRt 9o (b) T E=W

() I sTEtmn <M (d) S Segehd
e 39 :

(1) (a) 30T (b) Fod (2) () S () FH
3) (@) (b) (T (c) T (4) oo wd

The availability of water in soil is a critical factor and which of the following points are
related to it ?

(a) Soil erosion (b) Siltation

(c) Loss of soil cover (d) Productivity of soil
Answer Options :

(1) (a) and (b) only (2) (b and (c) only
(3) (a), (b) and (c) only (4) All of the above

124, Gl fAYMFRE "t& faum/ e
(a) T urihed wmoft snfor gan Srer=mled Sua 3.
(b) Teehor areia WOy s S AR,
qgiet I
(1) (a) SR . (2)  (b) TR .
(3) TR (a) 0 (b) TR ARA. (4)  IAR! THE A R
Choose the correct statement(s) from the following :
(a) In clay soil water and air movement is restricted.
(b) Water holding capacity of clay soil is high.
Answer Options :
(1) (a) is correct (2) (b) is correct
(3) Both (a) and (b) are correct (4) None is correct

FoE HHMEE AT/ SPACE FOR ROUGH WORK
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125. YRGS Teie HIUE FErEd T S 0 YRAE S AR o e
R ?
(1) FTH 42 (2) HeH 48T
(3) @M 51 T () (4) oM 52

Which article in Constitution of India recognises environmental protection as one of the
fundamental duty of every citizen of India ?

(1) Article 42 (2) Article 48 A
(3) Article 51 A (g) (4) Article 52
126. ST | (pH) 7 Y&l S 8™ STHIT FEUId.
(1) smAyHtg 2) famata 3) e (4) ! @
Soil with pH higher than 7 is called soil.
(1} Acidic (2) Alkaline (3) Neutral (4) None of these

127. & Sita, ga Sfd, gfvern fegant 9 #ga Fewee 9r enfor stfae faudia vered aam =i o8

T :
(1) <HHE (2) TR
@) =HI=rE (4) Teddrord

The organisms which feed on the parts of dead organisms, wastes of living organisms, their
cast-offs and partially decomposed matter are called as :

(1) Chemotrophs (2) Carnivores
(3) Detritivores (4) Decomposers

128. Sftr=n 3w 3% foon IO o GRem 7 Hered Agseargdas fafay T e

UM
(1) e ghtea (2) a9
(3) ifeian 3w B (4) SR @

A vertical section of the soil showing the various layers from the surface to the unaffected
parent material is known as

(1) soil fertility (2) soil texture
(3) soil profile (4) soil structure
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129, S it ol = Saren STifara SeareHIeh T ST 9T el S Sty s Yafits wai

(1) T HuRol (2) TR GYRY
(3) RIS ST @) Huw: s agar

The rotational utilization of land and water resources for optimum production that causes
minimum damage to the natural resources is defined as

(1) Water harvesting (2) Soil conservation
(3) Watershed management (4) Sequence cropping
130. 1 AT HGYRY EETET S I W 3T R ST WIS (ST Te)
3 U,
(1) &R (2) WA =T
(3) ook (fawd) |y (4) TiUH
Acid rain is a rain that has a larger amount of _ in it than a normal rain.
(1) salts (2) acid compounds
(3) alkali compounds (4) sulphur

131. WHAIHT BT Yo GUREHTIE Faifaer fas Tegedan e ?

(1) TieERT (2) e TeHe
(3) dEURE (4) T THE
Which of the following soil amendment is having the highest gypsum equivalent ?
(1) Sulphuric acid (2) Iron Sulphate
(3) Iron Pyrite (4) Elemental Sulphur
132. AAEONHAA F4 0N SigA oX geaia Jom=n 1 GAYHT TeH FHI FEaw iy
= F9 &F T8 Uit 3y As Fiemn sIRvEnT sTewen i et
(1) arfada (2) THRES () (3) dEsd (4)
The decreasing ozone layer in atmosphere will raise the level of radiation coming
to the earth creating problem for agriculture, animal and human health.
(1) Ultraviolet (2) Infrared (3) Red (4) Violet
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133. o9 (=) Tonie Sy @ ?

(1) =0 S (2) SRl HHR

(3) =R gt - (4) AN HE

What determines the drainage coefficient ?

(1) Drain spacing (2) Drain size

(3) Drain depth (4) Number of drains
134, dfEedmdta S 9 (SAvE) 9 RO

(1) I A (2) TaEHSE

(@) Tl ¥EE (4) A

The behaviour of energy in ecosystem is called :

(1) Energy input (2) Respiration

(3) Energy flow (4) None of these

135.

IEETe 9t WISTU WEieTish! v ) ST ?
(a) UTEHTE QIO AR AR HSaUE
(b) AT WIS SEThIBHIS] QST

©) =T wuEEt et SieavE

(d) STeiEA S STSdEs Ft FH

it 3T ;
1)  (a) ST (b) KT 2 (@), (b) 3T () F
@) =0 wd @) St T

Which of the followings are rain water harvesting techniques ?
(a) Runoff harvesting for short-term storage

(b) Flood water harvesting for short-term storage

(c) Flood water harvesting for long-term storage

(d) Reducing evaporation and transpiration

Answer Options :

(1) (a) and (b) only (2) (), (b) and (c) only
(3) Al above (4) None of the above
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136, TR faurTis! St strET g ?
(a) fargeurl TaEMHE Ed gur fae dgdt daos e 2 Iam.
(b) T A (wift) <= Sfeef arl SamET ST (FeEn) T St T S

wutEt I :
(1) (a) (2) (b} P

(3) = (a) 3N (b) TSR 3R (4) FIUE T TR
Which of the following statements are correct ?

(@) Soluble chemical fertilizers can be injected into the sprinkler system of irrigation and
applied to the crop.

(b} Fine textured soils require very closely spaced farrow than coarse textured soil during
surface irrigation.

Answer Options :
(1)  (a) only (2} (b)only

(3) Dboth (a} and (b} are correct (4) None is correct

137. SifE=n amar ferdidia oo wedi=a (ffee FUTHE) T FHTHR UM FH ST T 2
(1) oo, TFe (=), STeAd drEer s faeshor S Arit=l s
(2) Taor g, faur, dger () i AT Wider A= SHA
(3) aEHY Urge, e (Mes), fererur drger onfr fereror Ardt=t sHE
(4) oo, fomu dree, 9rgen (M) AT ATegHg NFe HkEl A

Which is the correct sequence of soils in ascending order based on their moisture contents
and field capacity ?

1}  Clay, Silt loam, Sandy loam and Clay loam soil
2

(
( Clay loam, Clay, Silt loam and Sandy loam soil
(3

(

pu—

Sandy loam, Silt loam, Clay loam and Clay soil

S

4) Clay, Clay loam, Silt loam and Sandy loam soil
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138, fumre aRme) dafiRW o1 W S 1 S 3R ?

(a) I Sftien e oniftn srdeEt stavas

(b) & T wE

() TEET 7| ETHF v

() === fadas fRamErel weses

'ﬂ'ﬂf’iﬁ E?ﬂ' :
(1) (a) B (2) (b) P
(3) (b), (c) 3T (d) P 4) b wd

What is the function of Magnesium nutrient in crop plant growth ?
(a) Essential for development and growth of new cells

(b) Component of Chlorophyll

(c) Structural component in ribosomes

(d) Cofactor for many enzymatic reactions

Answer Options :

(1)  (a) only (2)  (b)only
(3) (b), (¢) and (d) only (4) All of the above
139. fo=7 qmam= o S WHIY Too WA= g Be wihta uroit areeer wifga svifor groft
feraor et B
(1) “hfcsEm (2) e (3) wfegm (4) HfwEm
High content in irrigation water causes deflocculation of soil leading to reduced

soil permeability and low infiltration of water into the soil.

(1) Calcium (2) Potassium (3) Sodium (4) Magnesium
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140. YIUTEAIE &=l TEET= GIof SEvare Yo vl SEheR STaEeT e ?

(a) TSATH (b) S 9

() WUmE wfEs® = (d) S AR

a4

(1) (a), (b) 3fT () A 2)  (a), (o) = (d) Fa

(3) (a), (b) 30 (d) P (4) A |

Amount of runoff of rain water from catchment area depends on which factors ?
(a) Rainfall (b) Soil texture

(c) Topography (d) Land use

Answer Options :
(1) (a), (b) and (c) only (2)  (a), (g and (d)only
(3) (a), (b) and (d) only (4) All of the above

141, S 9IS A R 3 degT Teurard Seal .
(1) ieer st s farer Freeis 9 Gan Sirea st
(2) i el WY a
(3) e urvit S yRyreR WEd fHel qRnTaE ag e
(4) I A
The land is called waterlogged when
(1) When soil pH is > 9
(2) When root zone is saturated

(3) When water stagnates or flows over the soil surface

(4) None of these
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142. Eia faamiet Fo@(H) arET /R ?

(a) Torarmen oo fiamAmen A Hiee St faha Hfevmms dafEmit sgga
T frrefor 2,

(b) TR HE HA T (W) wIof feears @ ARt diers ue Seedr.

ot I

(1) W (a) S 318 (2) T (b) S TR

() B (a) M (b) T 3T (4) <RI SR T

Which of the followings statement(s) is/are correct ?

(@) Use of gypsum creates favourable Ca : Na or Ca : Mg ratio in irrigation water.

(b) Poor quality irrigation water application with sprinkler leads to leaf burn.

Answer Options :

(1) (a) only (2) (b) only

(3) Both (a) and (b) are correct (4) None is correct

143, e TSHTTER A0 SIgdiel RSl ST Sameonrs ear STt ey FH wedin

a4 TEUTT.
(1) =fare siRom (2) S AYHAES
(3) sRaEayg (4) < TR IS

The ability of the atmosphere to admit most of the insolation and retard the reradiation from
earth is known as

(1) Green house effect (2) Global warming

(3) Green house gases (4) | Long wave radiation
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144. Eeftats Fow faum sie T ?
(1) & SEAE I STl STaTHMER STaee 315,
(2) SereAdre Hed FOAMRE] AHAEA TRSURTeRIE SUeTe UIvaTs! U 0l T 316,
(3) AT ER S AR G IR AREEE FEGH el IR
(4) FOTIET R MR
Which of the following statement is not correct ?
(1) Land use in area depends on the modes of life of people.
2)  Water resources need to be conserved by tapping the available surface water.

(
(3) In agriculture, solar energy has been used efficiently for improving crop production.
(4) None of the above

145. TOWH SReEde HgF T AMYATHMHE 10T FIR ot AT ST ?
(1) 22 T 2016 (2) 4 =K 2016
3) 12 fedaw 2015 (4) 30 W 2018

When the Paris agreement within the United Nations framework convention on climate
change came into force ?

(1) 22 April 2016 (2) 4 November 2016

(3) 12 December 2015 (4) 30 May 2018

146, W= sty A= fafay fra, = g e, Sere, fd a9 ages frat gade
feogmstyude ™ 379 wuEE.
(1) e (2) TR o
(3) WATH W (4) =FUHT

The erosion which is due to disturbance in natural equilibrium by the activities of man and
animals through land mis-management, destruction of forests, over grazing is called as

(1) Water erosion (2) Geographical erosion
(3) Accelerated erosion (4) Wind erosion

147. SIS AMEIA ST HIOEI(T) TEH Fuen HRoiyd TRl /A8 ?
(1) e T siaaRes afean ¥ (2) 3G age IasH

(3) A=A FaEH 4) =i 5

Which factor(s) is/are not directly responsible for global warming ?

(1)  Excess amount of CO, (2) Emission of green house gases
(3) Deposition of Acids (4) All of the above
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148. RTEATE U VIRAT i ferdrerehe 7, fa e, anfiaew enfor v A o A@ @ W@

3T Halrel .

(1) ISRt (2) wafERTEA (3) T THR AR CAR

A branch of soil science that specifically deals with the study of soil origin, its classification

and description is known as .

(1) Edaphology (2) Ecology (3) Pedology (4} Geology
149, TR 3nfor urft Hadare ¥ Fifer I R -

(a) TBE Y (b) TEUEET AMTEE

() TeTTwT | (d) ST i

it I '

(1) () (@ ¥ (d) FH @ (0, (b) NN (a) FH

(3) (d), (c) 3N (a) et 4)  (a) (), (c) 37 (@) &

Mechanical Measures of soil and water conservation are :

(@) Graded bunds (b) Contour cultivation

(c) Bench terracing (d) Contour bunding

Answer Options :

(1)  (b), (a) and (d) only (2)  (c), (b) and (a) only

(3)  (d). (d) and (a) only (4) Al (a), (b), (c) and (d)
150. A/ FRERTIR eh SRR e wogren siqad I $evast sarget

.
(1) ol Soareh A (2) i SEa wEisEE
(3) TUITSH S9! Hra (4) it fawmToieR wRismT
is determined to evaluate the benefit of applied water through economic crop
production.

(1) Water application efficiency (2) Water storage efficiency
(3) Water use efficiency (4) Water distribution efficiency

-00o0-
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Tl — (9= 1 67 6. )

(8) wEfETHAL fafeq Fown fafire aria F= &M (IF 3%) FE,  TAYfhaAaREd Satafrrat a1 3
FRER Fd FF FAH 0 FA FOATH F]qH HS 3R, 3 TS TG J AGER SHSATT A
SR e et Bt AR ey e atfufe-g2 " At SEdTER HRATE SO
AT T T AH FHS Uk FESA HRETEST S/ R T U R WEe Sgrn fieh U 3R

(9) T YHGAFTIS ST fafea Fo 32 TUcarat SREANS § TRAgfKre! . sial TITHeiae] S
A0 A ST, T TASTR eI FTUaTgE! SUgar el STRdfaehan WRT-1 Sag&es T
ferarar wa @O stayTeE oM

bt R LA

T. . 201. FAH 967 T HOGRS! R0 T T el 2
(1) = ZaEe g (2) SvoREg faumER
(3) T WERA T (4)  TiTEEE e

o U A I (3) TS THERA T O o, e 1 W S (3)" dide. anad
THEIN FE 3. 201 FAiE FH-FwEE Q)" v ade T SrEifhd e qrEian HEavas
T,

w200, (D) Q@ @ @
3T TG TR TR Yedeh Yo JH1 STGHA B gRerel Tdsied Jiedl STt
o 1 WRNEENE e age quiTtl Eithe He JEaEl. T AT e el IS
e o, U ar I U 9w T
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